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Variable, Co-efficient & Term
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Expressions x Y [ +y

» Expression is combination of terms
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Difference b/n



Difference b/n
Expression & Equation

» Expression is combination of terms

* Equations is formed whétwo expressions are equated

together using equal to (=) sign
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Polynomials 2%

» Expressions having positive integral powers are known as

polynomials. e T e
Vo
« Example: x2 + 2x'+ 1__9_}' .I‘)t = A
2X + 1
3-4, i s al lynomial
3, — 4, or any integer is also a polynomia




Note:

All polynomig|s are expressions, but not all expressions
are polynomials.
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Based on Power

Types of Polynomials

24%

1> wwv\OVM'A—Q

Based én terms —> 2 = binomiad
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Highest integral power of variable in a polynomial

4 J
Example: _5_)£3+_>£@+3' = 3
n= Ayt 2t > @
N/
')()(\{ = ARA = A
= yry = \"



Value of a polynomial
B—(X) X2+ 3X+2
Find the value of ofp forx 2 %@

F[»)= 22 +2(2) +\
= 4+ 6+ 2
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Zero or Factor of a polynomial

For a polynomial p(x) if any value of x makes value of p(x)=0 then it

Is called as zero or factor of the polynomial.
e

0(X) = X2 + 3X + 2 Chec1 is a factor for p(x)
p(-2)= CZ)Z t3[-2) +2 -> O

Y L+ )L = L -£=0



Remainder Theorem

(X) = X2 + 3X + 2 NE +3A T2 (%42
PX égsz

F|nd the remainder when divided by (x+3) = © —
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QV Important Formulae
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. (a+ b)? =a?+ 2ab + b?
. (a—b)? = a? - 2ab + b?
. a’?—=b%?=(a+b)(a—Db)

. (x+a)(x+b)=x*+(a+Db)x +ab
. (a+b)3 =a®+ 3a%b + 3ab? + b* = a® + b3 + 3ab(a + b)
. (a — b)® =a3®—-3a?b + 3ab? - b3 = a3 — b3 — 3ab(a — b)




7. a3+ b3 = (a+ b)(a? —ab + b?) = (a + b)3 — 3ab(a + b)
8. a3 —b3=(a—b)(a®+ ab + b? = (a—b)3 + 3ab(a — b)

9. (@+b+c)*=a?+ b2+ c?+ 2ab + 2bc + 2ac
0 m

N 0%+l >+ (>3 aboe =0

What will happen if (a+ b +c ) =0 for formula no. 10?



Methods for finding factor for
polynomials

e Factorization
 Factor Theorem
» Synthetic Division




What should be subtracted from 5y - 13x - 8a to

obtain 11x - 16y +7 a? /\>
@24x-21y+a gy 12— pa & p0) =(inx )4y
(b) 6x + 21y + 15a ———— tia)
(c) 21y - Bx - a R~

4721y -24x 158 5, 3y — B4 = |In+ by -7a = pOU)
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pr(x) = x2- 2\/2x + 1, then p(2V2) is equal to

% pl2%) = <ﬁ§ -B)r

c) 42
()8\/§+1
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K@
r@ s equal to

Ifx= 2—p,the +
(a) 12
(b) 6 3,3+39tzp+3"(f_2+ﬂ3 -2
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Fora=—-5andb =5, value of a2 -b? is

10 >

i (-6)>= (5)

(c) - 30 9/5- — 25
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What is the square root of the following?

(X2 —14x + 49) (x2ﬁi2 +=)

(@) (x-4)(x+9 73 )(p{:('z)

X-7)(X+ 3) _
C/ﬂm . J 0= (x-7) (3) (n13)

(d) (x - 3)(x +8) f J




What is the simplified value of

*:i)z-(x-i)z}

(c) o
y




(b) 21-12V3
(d)17 -8J3




What is the value of
a(a+b? +o)'b%(a® +b% +c?)—c(a+b?),
whena=1,b=-3 and c=-2?

(b) 138
(d) 162




1k

-2 _ —
If highest common factor of x> —px—gand . - F(‘){) = PY! ﬂ
5x? — 3px—15q is (x— 3), then value of p and g
will be
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